	
	Data for 2nd Law Lab Part II

	Total Mass of Hanger (kg)
	Total Weight of Hanger (N)
	Total Mass of Car 

(kg)
	Total Mass of System (kg)
	Acceleration 

(m/s/s)
	Average Acceleration 

(m/s/s)

	Trial
	Run
	
	
	
	
	
	

	1
	1
	
	
	
	
	
	

	
	2
	
	
	
	
	
	

	
	3
	
	
	
	
	
	

	2
	1
	
	
	
	
	
	

	
	2
	
	
	
	
	
	

	
	3
	
	
	
	
	
	

	3
	1
	
	
	
	
	
	

	
	2
	
	
	
	
	
	

	
	3
	
	
	
	
	
	

	4
	1
	
	
	
	
	
	

	
	2
	
	
	
	
	
	

	
	3
	
	
	
	
	
	

	5
	1
	
	
	
	
	
	

	
	2
	
	
	
	
	
	

	
	3
	
	
	
	
	
	

	6
	1
	
	
	
	
	
	

	
	2
	
	
	
	
	
	

	
	3
	
	
	
	
	
	


Mass of Hanger = (Mass of Hanger) + (Mass Added)

Total Mass of Car = (Mass of Car) + (Mass Added)

Total Mass of System = (Total Mass of Car) + (Total Mass of Hanger)

g = 9.81 m/s/s
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